
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

اضرب الكسور العشرية بالقوى السالبة للعدد عشرة

3226٫3 × 0.001 = ________ 9489٫2 × 0.1 = ________

9571٫2 × 0.01 = ________ 3161٫1 × 0.1 = ________

7168٫8 × 0.1 = ________ 1629٫3 × 0.001 = ________

6195٫8 × 0.001 = ________ 8462٫8 × 0.01 = ________

6469٫8 × 0.001 = ________ 9117٫1 × 0.1 = ________

3709٫9 × 0.001 = ________ 4732٫4 × 0.1 = ________

7058٫6 × 0.0001 = ________ 3904٫2 × 0.1 = ________

7316٫3 × 0.01 = ________ 4658٫3 × 0.1 = ________

7872٫1 × 0.0001 = ________ 7309٫5 × 0.0001 = ________

6197 × 0.0001 = ________ 7185٫1 × 0.0001 = ________
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3226٫3 × 0.001 = 3.2263 9489٫2 × 0.1 = 948.92

9571٫2 × 0.01 = 95.712 3161٫1 × 0.1 = 316.11

7168٫8 × 0.1 = 716.88 1629٫3 × 0.001 = 1.6293

6195٫8 × 0.001 = 6.1958 8462٫8 × 0.01 = 84.628

6469٫8 × 0.001 = 6.4698 9117٫1 × 0.1 = 911.71

3709٫9 × 0.001 = 3.7099 4732٫4 × 0.1 = 473.24

7058٫6 × 0.0001 = 0.70586 3904٫2 × 0.1 = 390.42

7316٫3 × 0.01 = 73.163 4658٫3 × 0.1 = 465.83

7872٫1 × 0.0001 = 0.78721 7309٫5 × 0.0001 = 0.73095

6197 × 0.0001 = 0.6197 7185٫1 × 0.0001 = 0.71851
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